

## 01/27/2022

			Vendor	Ranking			Page 1 of 1
Letting:	02220119	January 19, 2022 11:00 AM	Call Order	: 003	Contract:	E20I6-R0	
District:	District 2		Counties:	DIST/ST-WIDE, DIXIE,	Fed Aid No	: N/A	
Contract Time:	365 CALEN	DAR DAYS		GILCHRIST, LEVY	Project(s):	41021827229	
Contract Decay	f	a di a manda da an la anda ta tala a si a sua ansi		4			

**Contract Desc:** furnishing and applying herbicides to vegetation to treat

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	JT RUBY CONTRACTING SERVICE INC	Responsive	Winning bid	\$68,400.00	100.00%
2	WATERS BROTHERS ENVIRONMENTAL I	Responsive	Non-Winning Bid	\$68,543.20	100.21%
3	CURB APPEAL SEVICES INC	Responsive	Non-Winning Bid	\$74,350.00	108.70%
4	NATURCHEM, INC.	Responsive	Non-Winning Bid	\$90,500.00	132.31%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



## 01/27/2022

## Tabulation of Bids

Page 1 of 3

Letting:	02220119	January 19, 2022	Call Order:	003	Contract:	E2016-R0
District:	District 2		Counties:	DIST/ST-WIDE, DIXIE,	Fed Aid No	: fedprojects
<b>Contract Time:</b>	365 CALEND	AR DAYS		GILCHRIST, LEVY	Project(s):	41021827229

Contract Descr: furnishing and applying herbicides to vegetation to treat

Furnishing and applying herbicides to vegetation to treat undesirable weed, grass, and brush. RENEWAL OPTION. BID EXPRESS MANDATORY.

Line No / Item ID Alternate Item Description	Quantity Units	(1) JT RUBY CO SERVIC		(2) WATERS ENVIRON		• •	PEAL SEVICES
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (CH	HEM WEED	AND GRASS CON	TROL (GA				
0005 E580337 2 HERBICIDE (STRIP APPLICATION)	100.000 AC	175.00000	17,500.00	59.28000	5,928.00	10.00000	1,000.00
0010 E580337 3    80 HERBICIDE (SPOT APPLICATION < 100 SF)	00,000.000 ) SF	0.04000	32,000.00	0.07160	57,280.00	0.09000	72,000.00
0015 E580337 4 HERBICIDE (STRIP APPLICATION)(AQUATIC)	90.000 AC	210.00000	18,900.00	59.28000	5,335.20	15.00000	1,350.00
0001 CHEM WEED AND GRASS Secti CONTROL (GA)	on Totals:		\$68,400.00		\$68,543.20		\$74,350.00

Contract Grand Totals:	\$68,400.00	\$68,543.20	74,350.00
------------------------	-------------	-------------	-----------



## **Tabulation of Bids**

Page 2 of 3

Lettin	<b>g:</b> 02220	)119 Ja	nuary 19, 20	22 <b>Ca</b> l	I Order: 003		Contract:	E2016-R0	
	e No / Item ID Description	Alternate	Quantity Units	(4) NATURC	HEM, INC.				
( ) in	dicates item is bid as	Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 000	01 (C	HEM WEED	AND GRASS CON	TROL (GA				
0005	E580337 2		100.000	205.00000	20,500.00				
HERBIC	CIDE (STRIP APPL	ICATION)	AC						
0010	E580337 3	8	800,000.000	0.02000	16,000.00				
HERBIC SF)	CIDE (SPOT APPLI	CATION < 10	00 SF						
0015	E580337 4		90.000	600.00000	54,000.00				
	CIDE (STRIP CATION)(AQUATIC)	)	AC						
0001 C	HEM WEED AND CONTRO		tion Totals:		\$90,500.00		ľ		

**Contract Grand Totals:** 

\$90,500.00



Page 3 of 3

Letting:	02220119	January 19, 2022	Call Order: 003	Contract:	E2016-R0
			to file a protest within the time pres		

120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.